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Do the yellow and then blue
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The only reason they give you diameter is so you 
can use the radius 
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of the chord AB. 20 ¢in B
Justify your ; >!lw

b

answer.

perpendicular is drawn from the centre of
the circle to a chord. The perpendicular dis-
tance to the chord is 3.2 cm.-What is the

EXERCISES 92 Pro

mmw..rmm of  Chords in o Cirele

®

* 1. Find each
)

2. Find each value of x to 1 decimal place where necessary.

value of x to 1 decimal place where necessary.
b) 5)

)

a) b)
Q ’

Use the diagram. Find : ;
the length of the chord 9.. In each diagram, find the missing measure.

PQ. Justify your (a) AB 4 () 0S” m4 i

answer. Vm om WO/

: > WoE } Q 3. A circle has a diameter of 14 cm. How

Find the length of the far from the centre of the circle is a
_perpendicular OT. g chord of length 7 cm?

Justify your answer. ~ i ; ,

3 10 A chord PQ, 8.0 cm in length, is drawn in a
circle with radius 6.5 cm. How far is the 4. Find each value of z to 1 decimal place where necessary.
; chord from the centre of the circle? 2 b) )

Use the diagram. : #

Find the length 12 cm 11 The diameter of a circle is 10.6 cm, and a g

T

Exercises 9-2, page 341

1. a) 9.8
2..3) 45°

ANSwERS

06

b) 5.7
b) 2.2

©) 4.5
4. 2) 8
8. _About 77 m

<) 4.1

b) 2.1

3. About 6 cm
7. 34 cm

9. 10 cm

length of the chord?

6 Find the length of the | ®
12 The distance from the centre of a circle to a Describe how you would find the centre of a circle which passes through three

8

perpendicular OM.
~CD =40 cm. Justify your
answer.

Use the diagram. Find the length of the
chord PQ. O is the centre of the circle.

Justify your answer.

chord is 2.4 cm. If the radius is 4.3 cm, how

long is the chord?
3

JMEUERS
L P el 1Bem
5, .32cm 6. 15cm .q.cv It is the centre omﬁm cir-
cle. 8. 48 cm 9.a) 312 cm b) 12.7cm

10; 5.1 cm 11. 8.4cm 12. 7.1 cm

non-collinear points.

scribes (passes through the vertices of) a given triangle.

centre?

The base of a large hemispherical dome
is a circle of diameter 80 m. How far
apart are two 20 m parallel support
beams which form “‘chords’’ of the
circular base?

o

Describe how you would find the centre and the radius of a circle which circum-

What is the diameter of a circle in which a chord 16 cm long is 15 cm from the
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